## 1. 6-32

Since V(x) is symmetric, we know that  $\langle x \rangle$  should be zero, but we can check this. Since  $\psi_0 = A_0 e^{\frac{-m\omega x^2}{2\hbar}}$  we have:

$$\langle x \rangle = \int_{-\infty}^{\infty} A_0^2 x e^{\frac{-m\omega x^2}{\hbar}}$$

$$= \int A_0^2 x e^{-\alpha x^2}$$
(1.1)

Since x is and odd function and  $e^{-\alpha x^2}$  is an even function, when we integrate over a symmetric interval we get zero. So as expected,  $\langle x \rangle = 0$ . Here  $\alpha = m\omega^2/\hbar$ . Notice  $A_0 = (\frac{\alpha}{\pi})^{1/4}$ . For  $\langle x^2 \rangle$ :

$$\begin{aligned} \langle x^2 \rangle &= \int A_0^2 x^2 e^{-\alpha x^2} = \int \sqrt{\frac{\alpha}{\pi}} (-\frac{\partial}{\partial \alpha}) e^{-\alpha x^2} \\ &= -\sqrt{\frac{\alpha}{\pi}} \frac{\partial}{\partial \alpha} (\int e^{-\alpha x^2}) \\ &= -\sqrt{\frac{\alpha}{\pi}} \frac{\partial}{\partial \alpha} (\sqrt{\frac{\pi}{\alpha}}) \\ &= \frac{1}{2} \sqrt{\alpha} \alpha^{-3/2} \\ &= \frac{1}{2\alpha} = \frac{1}{2} \frac{\hbar}{m\omega} \end{aligned}$$
(1.2)

Here I used a trick which is sometimes convenient, but you can look this integral up if you need to.

## 2. 6-33

For the harmonic oscillator we know that  $E = \frac{p^2}{2m} + \frac{1}{2}m\omega^2 x^2 = (n + \frac{1}{2})\hbar\omega$ . For the ground state n = 0. Solving for  $x^2$  we have:

$$\langle x^2 \rangle = \frac{2}{m\omega^2} (\frac{1}{2}\hbar\omega - \frac{p^2}{2m})$$
  
Comparing to 6-32

$$\frac{2}{m\omega^2} \left(\frac{1}{2}\hbar\omega - \frac{p^2}{2m}\right) = \frac{1}{2}\frac{\hbar}{m\omega}$$

$$\langle 1 - p^2/m\hbar\omega \rangle = \frac{1}{2}$$

$$\langle p^2 \rangle$$

$$= \frac{1}{2}m\hbar\omega$$
(2.1)

Phys 4E Week 5 HW Ch. 6: 28,29,30,31,36,37,41,42,56,58,61,62 For 28-31 See last week's solutions.  $36 \int_{a} \Psi_{1}(x) = C_{1} x e^{\frac{m \omega x^{2}}{2t}}$ So  $\int C_1^2 x e^{-m\omega x^2/t} = 1$ . But  $\int x e^{-cx^2} x = \frac{1}{2\sqrt{a^3}}$ So  $\int x^2 e^{-m\omega x/t} dx = \frac{1}{2} \sqrt{\pi} \left(\frac{t\pi}{m\omega}\right)^2 = \left(\frac{\pi t^3}{4m\omega^3}\right)^2$  $C_{1}^{2} = \left(\frac{4m^{3}\omega^{3}}{\pi t^{3}}\right)^{1/2} \Rightarrow \left[C_{1} = \left(\frac{4m^{3}\omega^{3}}{\pi t^{3}}\right)^{1/4}\right]^{1/4}$  $b \left| \langle x \rangle = \int_{1}^{\infty} c_{1}^{2} x e^{-m\omega x^{2}/t_{h}} dx = 0 \quad b|c x e^{x} e^{x^{2}} is odd.$  (f(-x) = -f(x)) $C \left\{ \langle \chi^2 \rangle = \int C_1^2 \times e^{-m\omega x^2/t_0} d\chi = C_1^2 \int \chi^4 e^{-m\omega x^2/t_0} d\chi$  $D_{x} = \int_{x}^{x} \int_{x}^{x} \int_{x}^{z} \int_{y}^{z} \int_{y}^$  $(\chi^2) = 2\left(\frac{m^3\omega^3}{\pi t^3}\right)^2 \cdot \frac{3}{4} \sqrt{\pi} \left(\frac{t^3}{m^3\omega^3}\right)^2 - \left[\frac{3}{2}\frac{t_1}{m\omega}\right]$ 

$$\frac{\partial}{\partial N(x)} = \frac{1}{2}m\omega^2 x^2, so \langle N(x) \rangle = \frac{1}{2}m\omega^2 \langle x^2 \rangle$$
$$= \frac{1}{2}m\omega^2 \cdot \frac{3}{2} \cdot \frac{1}{m\omega} = \frac{3}{4} \cdot \frac{1}{4} \cdot$$

$$3 \neq \int_{0} \Delta P = \frac{\pi}{2\Delta x} = \frac{\pi}{4A}$$

$$b \int \Phi = 3 \quad KE = \frac{p^{2}}{2m} = \frac{\pi^{2}}{32mA^{2}}.$$

$$B_{eff} = \frac{1}{2}kA^{2} = \frac{1}{2}tw \Rightarrow A^{2} = \frac{\pi w}{K}$$

$$aQ \quad shice \quad w = \sqrt{\frac{K}{m}}, \quad K = mw^{2} \Rightarrow A^{2} = \frac{\pi w}{mw^{2}} = \frac{\pi}{mw}$$

$$\Rightarrow \quad KE = -\frac{\pi^{2}mw}{32m\pi} = \frac{1}{32}\pi w.$$
The ground style total energy is  $\frac{1}{2}tw$ , so The H.U.P.  
estimate is off by a factor of #16.  

$$\langle KE \rangle = \langle E \rangle - \langle V \rangle. \quad For The Ground style,$$

$$\langle V \rangle = \frac{1}{2}mw^{2}\langle x^{2} \rangle = \frac{1}{2}mw^{2} \cdot \frac{1}{2}\frac{\pi}{mw} = \frac{1}{4}\pi w \quad (simber to Prob. 36).$$

## 3. 6-40

Ignoring the constants we have:

$$\int e^{-(\alpha/2)x^2} x e^{-(\alpha/2)x^2} = \int x e^{-\alpha x^2}$$

$$= 0$$
(3.1)

Again, x is odd and  $e^{-\alpha x^2}$  is even, so when we integrate we get 0.



a) Sch. Eqn. is  $-\frac{h^2}{2m}\frac{\partial^2 \psi}{\partial x^2} + V_0 \psi = E \psi$  for x > 0 $\Rightarrow \frac{\partial^2 \psi}{\partial x^2} = -\frac{2m(E-V_0)}{t^2} \psi$ So  $k_2^2 = \frac{2m(E-V_0)}{t^2} = \frac{2mV_0}{t^2}$ But  $k_1^2 = \frac{2m\cdot 2V_0}{t^2} = \frac{4mV_0}{t^2} \Rightarrow k_2^2 = \frac{k_1^2}{2} \Rightarrow \left(k_2 = \frac{K_1}{\sqrt{2}}\right)$ 

b) For x(0, 
$$\Psi_{E} = Ae^{ik_{1}x} + Be^{-ik_{1}x}$$
  
 $x>0, \Psi_{E} = Ce^{ik_{E}x}$   
Metalway:  $\Psi_{E}(0) = \Psi_{E}(0)$ :  $A+B=C$   
 $\Psi_{E}'(0) = \Psi_{E}'(0)$ :  $k_{1}(A-B) = k_{2}C$   
 $R = \frac{|B|^{2}}{|A|^{2}} = \left(\frac{\kappa_{1}-\kappa_{2}}{\kappa_{1}+\kappa_{2}}\right)^{2} = \left(\frac{\sqrt{2}-1}{\sqrt{2}+1}\right)^{2} = \frac{(2.94\%)}{\sqrt{2}}$   
 $C$ )  $T=1-R = [97.06\%]$ 

42 ] a Now  $k_2^2 = \frac{2m(2V_0 + V_0)}{t^2} = \frac{6mV_0}{t_1^2}$  $S_{0} \quad K_{2}^{2} = \frac{3}{2}K_{1}^{2} \Rightarrow [K_{2} = \sqrt{\frac{3}{2}}K_{1}]$ 6  $R = \left(\frac{K_1 - K_2}{L_1 + L_2}\right)^2 = \left(\frac{1 - \sqrt{3/2}}{1 + \sqrt{3/2}}\right)^2 = \frac{1002\%}{1 + \sqrt{3/2}}$ C = T = 1 - R = [98.98%]& [ 989,800 ]. Classically, they all help going.  $56 \left[ a \right] T = 16 \frac{E}{V_{0}} \left( 1 - \frac{E}{V_{0}} \right) e^{-2\lambda q}$  $E = 10 eV, V_0 = 2SeV$  $\alpha = \left[\frac{2n(V_{\cdot}-E)}{t_{\cdot}^2}\right], \quad \alpha = 1 \text{ nm}.$  $5o \quad \alpha a = \left[\frac{2mc^{2}(V_{o}-E)}{(t_{c})^{2}}\right]^{\frac{1}{2}} q = \left[\frac{2(511\times10^{3}eV)(15eV)}{197.33eV}\right]^{\frac{2}{197.33eV}} q$ 



Growd state: One bump in vell, Then decay:



$$\begin{aligned} & \text{Hoteling:} \quad \Psi_{I}(o) = \Psi_{II}(o) : \quad A + B = C + D \qquad (D) \\ & \Psi_{II}(a) = \Psi_{III}(a) : \quad Ce^{xa} + De^{xa} = Fe^{ik_{1}a} \qquad (D) \\ & \Psi_{II}(o) = \Psi_{II}(a) : \quad Ce^{xa} + De^{xa} = Fe^{ik_{1}a} \qquad (D) \\ & \Psi_{II}(a) = \Psi_{II}(a) : \quad x(-Ce^{xa} + De^{ix_{1}a}) = +ik_{1}Fe^{ik_{1}a} (P) \\ & \Psi_{II}(a) = \Psi_{II}(a) : \quad x(-Ce^{xa} + De^{ix_{1}a}) = +ik_{1}Fe^{ik_{1}a} (P) \\ & \text{S unknowns,} \quad \Psi_{Ceans.} \quad Now selve Them with The power of algebra, \\ & aQ it gives The answer (I'm not gone Qo it). \\ & T = \left[1 + \frac{sunh^{2}x_{1}}{\sqrt{b}(1 - \frac{E}{v_{0}})}\right]^{-1} \\ & \text{S}_{0} T = \left[1 + \frac{e^{2x_{1}}}{16 \frac{E}{v_{0}}(1 - \frac{E}{v_{0}})}\right]^{-1} = 16 \frac{E}{v_{0}} \left(1 - \frac{E}{v_{0}}\right) e^{2x_{1}} \frac{1}{1 + 16\frac{E}{v_{0}}(1 - \frac{E}{v_{0}})} \\ & \approx \left[16\frac{E}{v_{0}}(1 - \frac{E}{v_{0}})e^{-2x_{1}}\right] \end{aligned}$$





· ··-

....